il

830A

moshaveranetahsili.ir

> 830

1Fee Jlom JB10 L gl wi )1 ol 415 500 480 (59958 (3903 T

|
1

’ v Aadgdn oo ¥l C8llon 2gds poal SUBLLILS S0

o {04  ameni alal
N

RN TIPS s

Ea3bd g R pgle ol

S oyl B slajle

‘ (IYYY 45 = 5 gmols (mitie I

Lma Yoo 1 285 frmly oo

ol 5 glocis g Sluaad . Jilowiel Slge lenc

Wt Jlun Slows I

R kA R R R R e R e A R A RA R RA R KA R

aylein U | asless 31 | Maw oliay coilmial Olax wigd,
T i . (HJSﬂ] u_.nm § E L Q‘.g} )]
W ) ‘. o el s Jl.n.b‘ 3 J‘—Ci ¥ ghl T hfﬂ“'h__)] sl v
(And Ll
5 5 3 g e U Lo il g el e A paads gl v
L
4 1 5 IR YL | N T BT RRN ELE S URYR GRRREREL 3R P ¥
fo st
Jor AN Y. M (l-';ﬂl g BT ik Jl‘-’—")rrﬂ-‘m o A
{ It LSy ol
1%, 1oy v 3@?'3#'551#-1.% .J.QLI:: é“.hp-'-'-n-.nl-w]f‘_fnmﬂﬁ‘ﬁ I o
('Lh:a‘..‘ C&JLIT
i Sl Dl fele 31 salizal Byl e b yni fyge 3l ol

R R R 2 R R R R R e e R R RA KA R R R

gt gl ity e g b U g A2, o e el i yaten b LS, Bt g oA ol aled ol ciyme 3T 5155 0 g omt (o P ) 5 gt 0 Wi Ly g5 gl v

moshaveranetahsili.ir



moshaveranetahsili.ir

R C’S-BJT dndze 30 Losls yguiren pac A eds b Jader Giler joio jo Lasl g Glasln &8 pae (ol 5 cdbigls e

g 05 ohaiun Bylosd oarerlackly «Jol8 alET 1§ wovorciianiennsin csalbglo B bl s idloni!
JG Jf.d-' a8 3 EBJ ¢u5’!5.w d-"‘rj.é‘b 9 Mh@uh ‘SYLI d-w.L"b' 4 894 u)]-'l- 6'}".' J E_'J.Ju.n t_fn.ch].B aJLc.u.r Lf
mledgo anlh 1y plaoligunly oily 3 V1gw da i85 g9y p0ad

HgmertSil) (il 5 ogas

PART A: Veeabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

1-  During the ----—----—-- between arriving at the airport and boarding the plane, we’ll probably
do a bhit of window shopping.
1) interval 2)inlervention 3) imbalunce 4} inconsisteney

2-  That ugly vacant lot ---—-—-- from the heauty of the neighborhood.
1) depletes 2) derives 3) detracts 4) deviates

3- At first, the Savings Mart didn’t do well, but after it lowered its prices and increased its
advertising, the store began to ----—--—-- ]

1) prosper 2) subside 3) arise 4) strive

4-  The movement of clounds may seem to be --—-—-——, hut scientists know that there is a
pattern to how they move,
I} compatible 2) specific 3) transient 4) random

5  Since my math c¢lass was very difficult for me, T consider the B that T got for the course
to be a great ————ee—--,
1) illusion 2) triumph 3) obligation 4} disapproval

6-  The hardware store sells —-----—-- stones made of plastic that you can open and hide a house
key in. Then vou can hide the key by leaving the “stone” somewhere near your door.
1) confidential 2) artificial 3) superiicial 4} metaphorical

7-  Rhoda’s budget is so tight that she felt it would be --—-----—- to buy herself even a ten-
dollar pair of earrings.
1) plausible 2)1langiblc 3) sullicient 4 extravagant

8-  When the climbers reached the peak of the tallest mountain in the world, they felt it was
a ---—--—-— pecasion and were filled with pride.
1) momentary 2) moribund 3) meticulous 4y momentous

9-  The ramification of committing a murder is to serve a prison sentence even if you
---—--——-- your actiens.
1) implement 2) renew 3) regret 4} exceed

1~ It iz often an attorney’s job to construe the meaning of a contract and then share that
------——-- with a clicnt and, if nceded, with a judge or jury.
1} justification 2) interpretation 3) transformation 4} condemnation
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PART B: Cloze Test
Dircetions: Read the following passage and decide which choice (1), (2), (3), or (4) best fifs

each space, Then mark the correct choice on your answer sheet.

For 20 years, children have been treated (11) ----——---- all sorts of programs on
television which are supposed to help them hecome better at skills such as reading and
math. ‘These programs have presented (12) ---------- such as counting and recognition
ol letters as nothing but fun, (13) -—----—-—-- by such things as rainbows and jumping
[rogs. (14} -=mmanemm- no unprovemnent in children's abilitics in literacy and numcracy
(15) ———mmmmm- . These [un ways ol teaching such skills don’t seem (o work.

11- 1)in 2) for 3)to 4} on

12- 1) the leaming of skills 2) skills to leamn
3) the skills of learning 4) learning of skills in

13- 1) arc accompanicd 2) lo accompany
3) being accompanied 4) to be accompanied

14- 1) In spite of 2) But 3) Although 4y Whereas

15- 1) would observe 2) it observes
3) has been observed 4) to be observed

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

hest choice (1), (2), (3), or {(4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

A Fcbruary 2020 Curopean Union while paper on arlilicial intclligence advocaled lor
artilicial intelligence [or ceconomic benelits, including "improving healthcare (c.g.
making diagnosis more precise, enabling better prevention of diseases), increasing the
efficiency of farming, contributing to climate change mitigation and adaptation, [and]
improving the efficiency of production systems through predictive maintenance”, while
acknowledging potential risks.

The relationship  between  automation  and  employmentis  complicaicd.  While
automation climinates ‘old jobs, 1l alse creates new jobs through micro-ceonomic and
macro-cconomic cllccets. Unlike previous waves ol automation, many middle-class jobs
may be eliminated by artificial intelligence; The Economist states that "the worry that Al
could do to white-collar jobs what steam power did to blue-collar ones during the
Industrial Revolution” 1s "worth taking seriously".

Subyective estimates of the risk vary widely: for example, Michael (Osborne and Carl
Benedikt 'rey estimate 47% of U.S. jobs are at "high risk" of potential automation,
while an QLCD report classilics only 9% of U.S. jobs as "high risk”. Jobs al extreme
risk range [rom paralegals 1o Last [ood cooks, whilce job demand is likely 1o incrcase lor
carc-related prolessions ranging [rom personal healtheare 1o the clergy, Author Martin
Ford and others go further and argue that many jobs are routine. repetitive and (to an Al)
predictable; Ford warns that these jobs may be automated in the next couple of decades.
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17-

18-

19-

20-

Feconomists pomt out that in the past technology has tended to increase rather than
reduce total employment. but acknowledge that "we're in uncharted territory™ with Al

[rakli Beridze, [ead of the Centre for Artificial Intelligence and Robotics at UNICRI,
United Nations, has expressed that "l think the dangerous applications [or Al rom my
point of view, would be eriminals or large terrorist organizations using it o disrupt large
processes or simply do pure harm. | Terrorists could cause harm| via digital warfare, or it
could be a combination ol robotics, drones, with Al and other things as well that could
be really dangerous. Things like lethal autonomous weapons sysiems should be properly
governed — otherwise there's massive potential of misuse.”

What does the passage mainly discuss?

1) The potential rigks of Al 2) TTow Al allects healtheare

3) The cconomic benelils ol Al 4) Al-rclated job opportuniiics
Which of the tollowing is NOT mentioned in paragraph 1 as a positive point about Al?
1} Improving agriculture

2} Expediting climate change

3) Enhancing disease prevention

4) Making production sysicms more cllicient

According to paragraph 2, the new wave of automation can --------—--- ;

1) cradicale bluc-collar jobs

2) create many white-collar jobs

3) eliminate many middle-class jobs

4) have micro-economic effects but not macro-economic ones

According to paragraph 2, which professions are less likely to be automated?

I} paralegals 2) routine jobs
3) fast food cooks 4) care-related jobs
According to Irakli Beridze, the main cause for concern regarding Al is -—--------—-- i

1) its use in warfare

2) that criminals or terrorists can use it

3) that it causes widespread unemployment
4) its combination with drones and roborties

PASSAGE 2:

Since making 1its first appearance in the 1960s, the computer corpus has infiltrated all
figlds of language-related research, from lexicography to literary criticism through
arlificial intelligence and language teaching. This widespread use of the computer
corpus has led to the development of a new discipline which has come to be called
‘corpus linguistics’, a term which refers not just to a new computer-based
methodology. but as l.eech puts it. to a "new research enterprise’, a new way of
thinking about language, which is challenging some of our most deeplv-rooted ideas
about language, With ils focus on perlormance (rather than compelence). description
(rather than universals) and quantitative as well as qualitative analysis, it can be seen
as contrasting sharply with the Chomskyan approach and indeed is presented as such
by Leech. The two approaches are not mutually exclusive however. Comparing the
respective merits of corpus linguistics and what he ironically calls ‘armchair
linguistics™, Iillmore comes to the conclusion that -the two kinds of lingnists need
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22-

23-

24-

25-

each other. Or better, that the two kinds of linguists, wherever possible, should exist in
the same body .’

‘The computer plays a central role in corpus linguistics. A first major advantage of
compulerization is thal it liberates language analysts “from drudgery and cmpowcers
[them] o focus their crealive cncrgics on doing whatl machines cannot do’. Moire
[undamental, however, 15 the heuristic power of automaled linguistic analysis, i.c. ils
power to uncover totally new facts about language. It is this aspect, rather than *the
mirroring of intuitive categories of description’.that is the most novel and exciting
contribution of Corpus Linguistics.

Fnglish is undoubtedly the language which has been analyzed most from a corpus
linguistics perspective. Indeed, the first computer corpus to be compiled was the
Brown corpus. a corpus ol American English.

What is the best title for the passage?

1) Corpus Linguistics 2) Computer Modeling

3) Chomskyan linguistics 4) Advantages of Computerization
According to Leech, corpus linguistics -------------.

1) is not a new methedology

2) can completely change language teaching

3) is mostly focused on competence rather than performance

4) 15 making us revisit eur decp-scated ideas about language

Whaut can we infer about the Chomskyan approach from paragraph 17

1) It contains (wo main theorics.

2) Tt is first proposed by Leech.

3) It torms all our current ideas about language.

43 It 1s not centered on performance and description.

The word *“uncover™ in paragraph 2 is closest in meaning to -------—---- A

1) reveal 2) invenl 3) inlerprel 4) underminge
According to paragraph 2, what is the most exciting contribution of corpus linguistics?
1) Liberating linguists from drudgery

2} The heuristic power of automated linguistic analysis

3) The menitoring of intuitive categories of description

4) The fact that English has been analyzed more than any other language

PASSAGE 3:

Low-code platlorms (also relorred to as low-to-no-code or low-1o-zcro-code) are
modern, highly [unciional and standardized soltware solulions, which cnables you Lo
build complcle business applications withoul coding, usually thanks Lo an intuilive
graphical user interface and tools that allow vou to quickly and easily automate even
very complex business scenarios and processes by dragging and dropping things
around. ‘Thanks to this approach, they offer maximum benefits even to users who do
nol have specialized programming knowledge and coding skills. Modemn solutions ol
this kind olfcr extensive [catures [or cllcetive change managemenl — somcthing that
every modern company, which wants to grow dynamically, will surely learn to
appreciate.
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The ability to build business applications without coding skills effectively supports
electronic document management and task workflows. while fostering business
process automation and digitalization. ‘The possibilities offered by modem low-code
platforms can bring benelits lo all companies who want to quickly and clTiciently
aulomaic their business processces and build business applications that arc perlceily
tailored o their needs and are casy 1o modily, withoul having (o cstablish costly and
often troublesome relationships with development teams. Obtaining the tull benetits of
their capabilities and features is strictly dependent on the functionality, architecture
and flexibility of the chosen solution.

While looking for the best low-code platform that will be able to keep up with the
dynamic pacc of busingss growth and cffectively support its daily opcrations, it may be
worthwhile to choose a [uturc-prool’ solution that will allow making the ncecssary
changes and modifications in real time, at every stage of the business application life
cycle. This, in turn., will ensure that the selected low-code platform is used not only
for quickly building applications tailored to suit the current requirements and needs of
the organization. but also modifying them in a safe and efficient manner, without
endangering any other deployed applications and implemented processes, 1o make sure
that they always stay up-lo-dalc und support the company s opcralions.

According to paragraph 1, low-code platforms —-—-———-- :

1} are easy to develop

2) have a graphical user interface

3) require specialized programming knowledge

4) help employcees casily undersiand complex business scenarios
All of the following are mentioned in paragraph 2 as the benchits offered by low-code
platforms EXCEPT -------—-—,

1) ¢lMicient busincss autemation

2) eleetronic document management

3) personalized business applications

4) ettective relationship with development teams

The word “their” in paragraph 2 refers (0 -——--—-—-—- d
[} companies 2) low-code platforms
3) business processes 4) business applications

What can be correctly inferred from the passage about low-code platforms?

1) Coding skills help us ebtain their tull benefits.

23 Only development teams can efficiently use them.

3) They may vary according to their functionality, architecture and tlexibility.
4) They support a company s operations without the need for any worklorec.
Paragraph 3 suggests choosing low-code platforms that offer -c-cemeeeeeeee,

1) a user-triendly interface

2) quick development of applications

3) building different applications simultangously

4) making future modifications to the applications
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fine! alivo j3bin ol 51 SQL 590 9 o 2 plaS
I. SELECT T1.sid

FROM Course C1, Takes T1

WHERE Cl.cid = Tl.cid AND Cl.cname = *Database’
INTERSECT

SELECT T2.sid

FROM Course C2, Takes T2

WHERE C2.cid = T2.cid AND C2.cname = ‘Math’

[I. SELECT Tl.sid
FROM Course C1, Takes T1

WHERE Cl.eid = Tl.cid AND Cl.cname =*Database’
AND Tl.sid IN (SELECT T2.sid

FROM Course C2, Tukes T2
WHERE C2.cid = T2.cid AND C2.cname =*“Math”)

I1I. SELECT Tl.sid
FROM Course Cl, Takes T1
WHERE Cl.cid = Tl.cid AND Cl.cname = ‘Databasc’
AND EXISTS (SELECT ©
FROM Course C2, Takes T2
WHERE C2.cid = T2.cid AND C2.cname =‘Math’ AND C2.sid = Cl.sid)
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